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(1) FHIRD 7T AT v 7 REval % o R EOHER [Hif7: k g
X5y 478 | 5 | 6A | 7H | 8A | 94 |10H|11H|12A| 1H | 24 | 34 | &3
R4 % 7T RS el g 580 500 450 580 530 480 540) 460 480 630 400 450, 6,080
7T MR ek 570 520 460| 590 480)| 580 - - - - - - 3, 200
RS AR
T ATy JEF—FEREIY| - - - - - - 640 680 660 640 630 760 4, 010]
R6 4R |7 T AT 7 IR —HERIL 6100 660 760 600 750 570 580) 7500 - - - - 5, 280
[ - 1 22 A B0 ] —HEEUNEAT  515ke —HEEINEMTE  663ke (28%H4)
(2) RMHIK DT T AF v 7 K ae mHE5 O Al E DO HER [HA7: k g
X453 4 A 5H 6 H 7H 8 A 9H [10H|11H|12A4]| 1H 2 A 3H | AFf
R5AEJE| 7T Mg blE 6,530 5,990 6,520 6,500 6,220 7,170, 5,780 6,110 6,730 6,130 6,320 6,260 76,260
7T R 6,090 6,700 6,480 5,810 6,690 6,170, - - - - - - 37, 940
R6 4R
77 AF v 7 BRI - - - - 6,160 7,050, - - - - 13, 210
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(3) REHMIX DT T 2F v 7 KL EOHER [HA7: k g]
X4y 478 | 5H | 64 | 7H | 8H | 93 |10H|11A|12A| 1A | 24 | 34 | A&
R5 4EE 7T RN G 6,480 7,000 6,280 5,860 6,970 6,510 6,390| 5,710/ 6,450 7,560/ 6,160 5,810 77, 180)
7T BR A 6,460 5,630 6,160 6,240/ 6,560 6,230 - - - - - - 37, 280
R6 4R
T ATy 7 ER—FEEIR| - - - - - - 5,570 6,090 — - - - 11, 660
HIAER A H 0.87 1.07
(SR 1 72 720 ] —HEENFEMAT 6, 358kg  —4EEINET%E 5, 830kg (8% )




